
30

www.prohydraulics.co.za

  3/4” KEY JAV-131
  7/8” KEY JAK-131 JAB-151
  7/8” KEY WITH EXT THREAD JAX-131
  1”KEY JED-131 JAE-151
  1 1/8” KEY JMT-131 JGT-151
  1 1/4” KEY JAW-131 JAF-151 JAL-176
  1 1/4” KEY LONG JAL-176-L
  1 3/4” KEY JUC-176
  CAT 910 TAPER W/RUFF JCA-131
  6 SPLINE 1” JAM-131 JAN-151
  6 SPLINE 1 1/4” JSX-151
  9 SPLINE 5/8” JAI-131
  11 SPLINE JDV-131
  13 SPLINE 7/8” JAJ-131 JAD-151
  13 SPLINE 7/8” SHORT JAJ-131-SH
  13 SPLINE 1 3/4” JAS-176-SHD
  14 SPLINE 1 1/4” JAH-131 JAG-151 JAS-176
  14 SPLINE 1 1/4” LONG JAG-151-L JAS-176-L
   15 SPLINE 1” JAU-131 JAT-151

130/131 150/151 175/176
        LOOSE SHAFTSJ

  NEEDLE ROLLER                     KY-131 KS-151 KR-176
  SHAFT BALL BEARING             KX-131-40 KX-151-58 KX-176-59

        BEARINGS/BUSHESK

  BODY SEALS                            LUB-131-242 LUB-151-244 LUB-176-252
  PUMP SEAL STANDARD           LX-131-16 LX-151-17 LX-176-10
  MOTOR SEAL STANDARD LX-131-9 LX-151-8 LX-176-1
  PUMP SEAL LOOSE SHAFT      LX-131-18
  MOTOR SEAL LOOSE SHAFT LX-131-11
  PUMP SEAL VITON LX-131V-16 LX-151V-17 LX-176V-10

        SEALSL

  SEAL RETAINER MOTOR MRA-176
  SEAL RETAINER PUMP MRA-176
  RETAINER NUT PUMP
  RETAINER NUT MOTOR

        RETAINERSM

  STANDARD NDOWEL-131 NDOWEL-131 NDOWEL-176
        DOWELSN

  RING SEAL OLB-131-1 ONB-151-1 OWB-176-1
  SHAFT BUSH
  CONNECTING SHAFT BUSH

        BRONZE PRESSURE RINGO

  RETAINER O-RING                   PL-176-164
  POCKET SEAL                          PBA-131-2 PBA-131-2 PBA-176-3
  STEP DOWN PL-PB131/131-30 PL-PB176/131-159

        O-RINGS/POCKET SEALSP

  SEAL SPACER                          QAE-131 QAC-151
  INTERNAL SPACER QVB-151-1
  BEARING SPACER                   QVB-131-2 QVB/AC-151 QVB-176
  SHAFT SPACER QTB-131 QAF-176
  STEP DOWN QAK131/131 QAL176/131

        SPACERSQ

  SELECT AS PER KEY SHAFT RX-?? RX-?? RX-??
        KEYSR

  SHAFT                                     SX-131-100 SX-151-125 SX-176-137
  SHAFT END COVER                 SX-131-206 SX-151-283 SX-176-315

        SNAP RINGS/CIRCLIPSS

  BOLTS VBOLT 5/8”X ? VBOLT 5/8”X ? VBOLT 5/8”X ?
  NUTS                                       VNUT 5/8” VNUT 5/8” VNUT 5/8”
  WASHERS                               VWASHER 5/8” VWASHER 5/8” VWASHER 5/8”
  STUDS 06”-11”                         VSTUD 5/8”X6-11 VSTUD 5/8”X6-11 VSTUD 5/8”X6-11
  STUDS 11”-16”                         VSTUD 5/8”X11-16 VSTUD 5/8”X11-16 VSTUD 5/8”X11-16
  STUDS 16”-21”                         VSTUD 5/8”X16-21 VSTUD 5/8”X16-21 VSTUD 5/8”X16-21
  STUDS 21”-26”                         VSTUD 5/8”X21-26 VSTUD 5/8”X21-26 VSTUD 5/8”X21-26

        FASTENERSV

  PLUG DRAIN WX-131-11 WX-131-11 WX-131-11
  PLUG SHAFT END COVER WT-131-1391 WT-131-1391 WT-131-1391
  CHECK VALVES  WM-131-1391 WM-131-1391 WM-131-1391

        SMALL PARTSW

BEARING RANGE - PARTS

K2

K1

L2

L1

L3

P2

P1

Q1

Q2

S2

S1

V2

V1

V3

V3

V3

V3


